Residual versus local y

e | e
L0.06 i
s e
= B
O
%) — S —
RATVNOZ] S S—

B e

0.02f — JT S o o e

-0.04 | L1 | L1 |

0021 ..................... ............ . ..................... ..................... ..................... S

_ e | °
Ol—i.o @ %0@® @ i @0 2 0. °%ed_ o %
IC P ®
- * oo..o. e ‘..\ ...z'o. 33

resXTOO0GPst_physics_5046043.root ss (0,12]
resXTO0O0GPst_physics_5046043.root ss (12,24]

resXTOOOGPst_physics_5046043.root ss (24,36]

resXTOOOGPst_physics_5046043.root ss (36,48]

60 80 100

Fri Feb 4 01:23:53 2005

120 140 160 180
Local Y



